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| give a partner nine stones, and the partner takes the stone as much as desired from that. Question 1

And | increase ten one's stones to have and return an original number and put it together with the stone which the partner has in
rests.

Even if a partner has it how many, if he have 11, one remain. If he have 12, two remain.
If he have 13, three remain, if he have 14, four remain.

When | gave a partner nine stones when originally oneself assumes a lasting stone x unit, oneself has x-9 unit.

| can express the rest with 9-y unit among nine when | assume the stone which a partner took y unit.

x-9+10=x+1 unit can refer when | increase ten one's stones to have.

It becomes the x+1-9+y=x+y-8 unit from now on when | pull the stone which the partner has.

-10 stones which a partner has will remain when | do one's stone to have to in total ten here.

In other words a result appears so that it is said that oneself remains two if | have more than one, 12 if originally | have 11.

Question 2
| let you do the sexagenary cycle of the year when you give a person 12 stones, and the person was born. | add the stone which | Question?2
repeat it many times until it becomes the number same as age of people with 12 stones a If the number of a certain person is five, It is with 17 years old when | make a person born in the 16-year-old Year of the Rabbit an example because | assume it a calendar year.
in the Year of the Rabbit of this year, the Hare, the dragon, the Serpent, the Horse, the Sheep. So the sexagenary cycle in the year 17-12=5
12-5=7

when the person was born, it is with the Year of the Sheep.
Even if other people go in the same way, it becomes same.
When there is not a rest, the Hare, the Dragon. So it is revealed that it is the Year of the Dragon by two stones of this side.

Thus, the stone which remained varies in 7.
Itis 7+2 =9 in adding two to the stone which remained
| know it with birth this year in the Year of the Hare because it is with the Sheep, the Monkey, the Cock, the Dog, the Boar, the Rat, the Ox, the Tiger, the Hare.

XThe way of counting a calendar year (since was born 1 year old). When | count nine from there because it is the Year of the Sheep.

Question 3

Question 3 When x refers to the number of go stones
0<x<100
Stones there is less than hundred, left over one if divides in three. When also four remain if they divide it by x=31+1 ..(1) fé?om
five. that one surplus be divided by seven because | broke it with three, and | write 21 to four because | zfgnm:; (gz)) x=5m ...(2)
N x=7n+1 ...(3)

broke by five, and it is with 84, and | write 15 to five because | broke by seven, and it is with 75 and pulls by
105 from 229 that put the number of these three together twice, | can know the remainder with 19.

In addition, stones in a hundred less than, two remainder when divided by three, and none remainder when
divided by five, and three left over when it is divided by seven, and that the total number is eighty, except
that there is no remainder, is calculated in the same manner as the previous problem, it can be seen from

(1) *70 70x=210l1+70

(2)*21 21x=105m+84

(3)*15 15x=105n+75

When calculate this, and is 106x=210l+105m+105n+229.
Thus, it becomes x=229-105(x-21-m-n)

0<x<100, and x, |, m, n are integers. Therefore, it is x=19.

It is 106x=210l+105m+105n+15 in do it like in the case of 0<x<100 .
Thus, it becomes x=15+105(2/+m+n-x)
x>200 and |, m, n, x are integers. Therefore it becomes x=225

x=31+2..(1)
the fact that it becomes eighty Subtracting one hundred five. x=5m...(2)
x=7n+3..(3

It is calculated in the same manner as the previous problem
106x = 210l + 105m + 105n + 185

In addition, stones are more than two hundred pieces, one remainder when divided by seven pieces, and
Therefore, x = 185-105 (x-2|-m-n)

it is no remainder when divided by three and when divided by five. This is multiplied by one fifteen that 185-105 = 80
was left over, and plus one hundred and five twice, would answer that the two hundred and five. g:’;; 100, and x, I, m, n is an integer,
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Our team is compared to the other team, the problem the number of many, was very hard.
However, the knowledge and the sense of accomplishment that was obtained from there
was a very big thing. Because | think it's useful always the future, we want to not forget.

In addition, | want to study more because English grammar and modern translation is still
not good part.
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This problem use a stone so it is necessary to solve the problem by finding a specific law.
Therefore, it is necessary to decipher the problem from different perspectives.
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It becomes a text only of the poster so it has become to be a little heavy feeling.
It should put a figure such as that associated with the small space.
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